Plasma Membrane Structure & Function
Digital Escape

For the digital escape,
* | had to make .jpeg’s for each of the clues so | could put them onto Google forms.
* Copy each station slide separately into it’s own PowerPoint & save as a .jpeg.
Start a Google form.
* Level 1: | added an image from my folder. For the answer, choose short answer, number only, equals. Select
required response. | added “try again” for incorrect answers. Enter the correct answer.

Select the option to the right of the question: Add SECTION.. This will make it so only one level
shows at a time.

Level 2, 3,4: Repeat step 1, but it will be text and not a number answer.

* For the triangle vocab (level 2): | have the pieces already cut out and in an envelope, so when they get to it
they can come get the material. Also,l added instructions that the answer will start with the number 1 so they
read from the correct top...it was the only thing | could think of

* For the Up, Down puzzle (level 4), | printed a copy for them because | found that trying to make a .jpeg and
posting was too small.

Lastly: Go to the settings menu, choose presentation, and under confirmation message, type
“congratulations... you have escaped the cell...

Hopefully this makes sense...



Plasma Membrane
Digital Escape Room

Q1. Lipid Tails
Q2. Marker Protein
Q3. Receptor Protein

Q4. Channel Proteins
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SOLVE THE PUZZLE BY MATCHING WORDS & PHRASES. FOR YOUR CODE SELECT ONLY THE CLUES

THAT ARE RIGHT-SIDE-UP.

\



Choose the following options below for each of the questions 1-4 to move up to escape the cell!!

™ Both the statement and the reason are correct.
™ . The statement is correct, but the reason is incorrect.
P The statement is incorrect, but the reason is a fact or a principle.

- Both the statement and the reason are incorrect.

Q1. The sodium chloride solution on Side X will become more concentrated and that on Side Y less concentrated because a
substance tends to diffuse from regions of lower concentration to regions of higher concentration of that substance.

Q2. The concentrations of the glucose solutions on Sides X & Y will remain unchanged because the membrane is impermeable to
glucose and so glucose cannot diffuse from one side to the other.

Q3. Water molecule will have a net movement from Side X to Side Y, because water molecules move from regions of higher to
regions of lower concentration.

Q4. The fluid on Side X will rise because the solution in Side X had lower water concentration than the solution in Side Y.

The solutions in the two arms of the U-tube are separated at the bottom of the tube by a
selectively permeable membrane. At the beginning of the experiment the volumes in both arms
are the same, and the level of the liquid is therefore at the same height. The membrane is

permeable to water and to sodium and chloride ions, but not to glucose. The apparatus is : A - B R C_ -
allowed to stand for three days.
D- E- Feom
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